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Solve the following (each has 2 solutions)

(2x­3)(x+5) = 0 x  ­ 5x ­ 14 = 02 ­2(x+3) + 8 = 0 2
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Solve the following
2x  + 5x ­ 12 = 02
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We know the solutions to  2x  + 5x ­ 12 = 02

are  _____  and _____

Show this using the quadratic formula
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A rectangular garden measures 5 m by 7 m. Both dimensions 
are to be extended by the same amount so that the area of 
the garden is doubled.  Draw a picture of this situation.  
Determine how much the dimensions should increase, to the 
nearest tenth of a metre? 
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Solve 

(x + 2)  ­ 5 = 2(x + 4)2
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